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written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
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General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iti)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to
these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three

marks, 2 questions of four marks, 1 question of five marks and 1 question
of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. fooe 9 9y SAfCHEEH ¥ Th 915, 39 faigd T o @19 @lidl T afg
HTEITIHAT g3 dl ©: W A%AT 5,000 Tl 1 gl 77 o o, S ot wgd B,
TSk bl T T & STl 37T 39 ded fear S | 2 918 | 400 ford) <hi
T T F o TEAN T5h h FRR A HE HET 9¢ B G | foow T i
foshar & ara & T e 3ueht RreRrd A @ o R T | 98 ym o on fo
FT AL |
foass o goma dfve 6 Sugea feufa & a8 foed olusemi &1 w&m &t
THhT 7 | 1
Vivek purchased a bike from Sarnath Automobiles with a written
guarantee to repair or replace, if necessary, within six months or
5,000 kms of distance travelled whichever is earlier. After covering the
distance of 400 kms in two months, the gears of the bike started giving
problems. Vivek took the bike to the dealer who refused to listen to his
complaint. He was confused about what he should do.

Suggest the rights that Vivek may exercise in the above case.

2. ‘THm 9 fafee’ T 10 FUS I AfHhd ST & T1F USiehd & | HEG hl Teq
ISt T 6 U 7 | HEOHT G I H A I @A | FEA F Y A T 100
T & 1,00,000 THAT ;M & A g0 €9 ThiHd & 1 FHui fomm |
e ol STfigT &1 TR | $Eeh e I8 TgHE B3 foh THOA o aredfae
TR AT & 31feres o |
3 JGYUNT shl g <hIfGT a7 30 IRTIYG hifve IS8 SISt =1 Tt
&1 T dd 999 KA g 9 § 8] W@ TR 1

XY Ltd. is registered with an authorised capital of ¥ 10 crore. The
paid-up capital of the company is ¥ 6 crore. The company was facing

shortage of funds. The management of the company decided to raise
funds by issue of 1,00,000 equity shares of ¥ 100 each. The issue was

fully subscribed. After this it was realised that the funds raised were in
excess of the actual requirement.

Identify and define the concept which was not considered by the company
before deciding the amount of funds to be raised.

3 P.T.O.
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3. Torelt ft ®F =1 yWEQYl qUT @AY T F HH & I JereA @i fafiE
TN H1GA] oh! STavIhal gidt & | hegl a1 o 1 Jamsy |

Various input resources are required by management to complete a task
effectively and efficiently. Name any two.

4. 9 AW sfEmie fafies’ weatufehcaent & fow wh stfeda s aehie
AT IUHWT 7 @ 7 | oAfhedehl gRI 39 UV 1 AN shaed ST
gfstetor < o1 & foRaT ST Hehdl B | IRT dk Toh 3H WatEE & fou oft fafarse
AT o AIEIE Sl ATEIAHhAT & | $Hh I, ITHT bl IGFIT Hifod
et § & TR S @1 2 | Rt Sueh hi fershl ser =Edt © |

YA I o THAT H HROT ¢d gY HF G T § AT T 1t Fareq alieh
1 gz G |

‘Nayan Medicare Equipment Ltd.” manufactures equipment for surgeons
having a unique laser technique. The equipment can be used by the
surgeons only after proper training. Even their maintenance requires
guidance of specialised engineers. Because of this, the equipment is used
in a limited number of hospitals. The company wants to increase the sale
of the equipment.

Suggest the promotion tool to be used by the company giving reason in
support of your answer.

5. &t SaERes BH g% B o folw 79t foshl semn 3 oy AT =nadt
2 | gft Jerues 3H W Ed 8 | 399 Tl whl IR dehdl § gedd o fou
gl 1 WiasT o R | G, AT iasaamft i a1 9ed 9t &
fore = afiem s vsar B

ITed TRl T h Teh Y i AU il & | 38 Y hl TgAM hIfIT AT
39 gftifya i |

All business firms would like to increase their sales and earn profits to be
successful. All managers dream of these. To turn their dreams into
reality, managers need to work hard in thinking about the future, in
making business predictions and achieving targets.

The above lines describe one of the functions of management. Identify
and define this function.
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6. ‘FRIH® e w1 3 AU | 1
YT

“faymTTerss <=’ w1 31 ST | 1

Give the meaning of ‘Functional Structure’.

OR

Give the meaning of ‘Divisional Structure’.

7. ‘SR wden wg ‘eAfiefe vhen’ d@ st=ave fifvu | 1
AT
‘g qen ‘srfufamme’ # steave i | 1
Differentiate between a ‘Trade Test’ and an ‘Interest Test’.

OR

Differentiate between ‘Placement’ and ‘Orientation’.
8. U yare feufd’ wer 3em &1 Gt wteHT i S g et 7 2 1
HAUAT
TIaeT W T Teh ITH h Yofl TTEHT il hdl T hidl & ? 1
How does ‘Cash Flow Position’ affect capital structure of an enterprise ?

OR

How does ‘Return on Investment’ affect capital structure of an

enterprise ?

Qus d
SECTION B

9. ‘foxfiy s 1 ffentor S0 SITUR fopu S Tt foer Sosi it aftdererdt
AR W fma Sar 8 1) 39 SR T A9 wqist ed ue 98§ 3Afees
UTqererdl 9Tl J9=1 b1 SATR fohat ST 2 | 39 oTIR <t fohegl g1 forsiwanant o1
e ot Fhifsu | 3

‘Financial markets are classified on the basis of the maturity of financial
instruments traded in them.” Name the market in which the instruments
with more than one year maturity are traded. Also state any two features
of this market.

5 P.T.O.



S

e

10. 39 3 17 & § Ush A hIHd o TA.3.81. dod g1 dradl STEies $hE §
HET IR FoR B | 3Tk 1 Ui A HE B R § | S A&l di i
AT HETEE] % Iheldd IUINT hl ATTTEd Hd & I o8 I8 MW <l § |
Teh JYTE AW §9H o folu, a8 Hu=Tii i Iuh HE-9-URev off Y
2 | 98 b g freaifed et o favemor of whear @ o 3% wfagfee o <
2 |
@ gra freaifea Rl 1 feeE o T HEwul 9eeh o &9 § Ffvid feRAm S
ThAl 2 | 39 UH 1 19 FaTET ql IuPFd H Y1 i o Afafe B
o fAsarfeq foru S g a1t @ 31T ST T Seoi@ TS |

Shiv has recently joined an industrial unit manufacturing low cost LED

bulbs. He has five workers working under him. He gives them
instructions to ensure optimum utilization of resources and achievement
of work targets. He provides good on-the-job training to the workers to
build an efficient team. He also analyses the work performed by them
and gives feedback.

The work performed by Shiv may be described as an important element
of directing. Name the element and state two other functions which may
be performed by Shiv in addition to those highlighted above.

11. T, Higd qen v fF i & qon ue ofenfies & H Ihl STeTT-STerT oy
fafmtor serrsat € | 3 weR wferdht qun $AER € qen o 3eanen Mt
T FATH FGER i TS THATed] 1 Hafg wleh Hd & | I =@t e
TSl el AT 1 STAN hid & AT HHehIhd TfshaTeTl &1 9T i @ | 9 3T
3CATG] 1 Hod Ui T 3fa TH-EmT & =@ d & | 9q o 9t eft
IcqTEehi G g3l o ICATET H YA T 3T Fagli oid =fean Tl <h
FEE, Fehell a1 Ul awgett o faw # faf<a g | om:, 3=iH Sfenfie &=
% I IATCHl & 1Y THAR Toh TET s 1 Foig T Seepr st
Alaa™ & qe T TWHR g9 ¥ G @l | Ig TS o9$HM, INehdi Ud
afad =AM T & arel fashatsti &1 gfdarg & @ 3 foawg
HIATE! T o TTC ITHTFATSTT ! TiedTigd ST |

Iyad aftfa &=t & sifafea sa @red gra fasurfea fopr IM arer fopedil &=
3T HHET hT Ioaig hHINT |
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Gopal, Mohan and Shyam are three friends having their separate small
manufacturing units in an industrial estate. They are hard-working and
honest and undertake their respective production activities following the
good practices of business. They use good quality raw materials and
adopt standardised process. They fix the prices of their products with a
reasonable profit margin. But all of them are worried about the
malpractices like manufacturing sub-standard, duplicate, and defective
goods by the fellow manufacturers. Therefore, they decided to form an
organisation with a constitution of its own which is free from government
interference. This organisation would encourage consumers to strongly
protest and take action against unscrupulous, exploitative and unfair
trade practices of sellers.

State three other functions which may be performed by this organisation
in addition to those mentioned above.

12. ‘3T & i TGk dwl hl GHHATSU | 3
AUAT
TSy o TTEl ST fohd TR (1) THTE TeRe; (i) U o faehmE; qen
(iii) 3T TSI Sl A o J1aT 7 | 3
Explain the three essential elements of ‘delegation’.
OR

Explain how effective delegation leads to : (i) Effective management;
(i1) Employee development; and (iii) Better co-ordination.

13.  ‘fra=r & #gw o fefafad fomgati 1 awss
(i)  HHTE! i AT § FuK;
(i)  STICY TF IFREA ! GiTTadar; qo

(iii) e | g St gl | 3
YT
Ty & ‘FRe’ ta “Feer’ i & greey 1 9uEsy | 3

Explain the following points of importance of ‘controlling’ :
(1) Improving employee motivation;
(i1))  Ensuring order and discipline; and
(iii) Facilitating co-ordination in action.
OR

Explain the relationship between ‘planning’ and ‘controlling’ functions of
management.
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SECTION C

14. TRR $g¥ ATAH e 9IS § AT It o o Ush foRme™ § EHIaehil
oy f1ereh & €4 4 SRRA & | T T 98 ®em § Sl a9R % faw ° e
W@ I | IR HET hHl FARA b AT I FEdl g3 WG o HROT AT Yol
IR 9 1980 6 ¥k H AWeRSHe Jhg @l | FHawehl i dieoar § Fed
ST T ISR YSi el o foeaR o R0 g, qarel, Jee dehdl, Haw
el adl SiaYfd SR H Affifad o= @t 4 fafte YR %k sty
(3UER) T 3ARH L 1S | 37 AR GUarl qon el 4 Fawehi o fovame
HI drg ST adn Faseni St e 9¢ T | gvs 'g faemm 3fea e
YT o A9 § YR TR AT IR SR fHasmept 6t wmenedt & fger
AR 9 | 35! SH § TE@d T WRA THR 5 T HaTeh Fepry €1iid st o1

oty form |
(%) 39 s e &1 am adqrse S Temur &1 Fvl yrRa awr gra
foram mam

(@) 3T () ¥ vg=aH T e e & el 32wl &1 Seoi@ o
T |

Nayar is working as a P.G.T. Commerce in a CBSE affiliated school of
Kerala. One day he was teaching about capital market in the class. He
informed the class that during 1980’s the capital market in India
witnessed a tremendous growth because of increasing participation of the
public. This ever increasing investors’ population and market
capitalisation led to a variety of malpractices on the part of the
companies, brokers, merchant bankers, investment consultants and
others involved in the securities market. These malpractices and unfair
trading practices eroded investors’ confidence and multiplied investors’
grievances. The Government of India and the stock exchanges were
helpless in redressing the investors’ problems because of lack of proper
penalty provisions in the existing legislation. In view of this the
Government of India decided to set up a regulatory body.

(a) Name the regulatory body which the Government of India decided
to set up.

(b)  Also state any three objectives of the regulatory body identified in
part (a) above.
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15,  TOIY 3fofhel WA shi SR (S8 Ted dre) Sfie Aeft % W A

Td deh BT § S LA bl T Hdl 8 | 37d:, 394 ’
UTEh! bl TGS @ & faehed YeH i & 00 Teh &l IRH
o foren | fIS w@ |ied /T @l U i % 91G
T 6l e w3 h Arewesar off, J9 AW Jeeh, d@ehR,
R H A WA % Y 31 A a1 3 W HISH 959 % g
354 I8 Fofa foen fop Saep fuan, oor, &l & am= ge-as 81 | 3=
i gfd |48 T 50,000 feu STaN | 35k fuar 3 359 Har 6
, %I @R e o o St foh 50 ug & fofu qui &0 @
& fT R & T | 3 9Ed, W H ¥ h T
fafira el ol STHIA HHAT TGH T T FGd™ o1 | IH 7 M0 & TFAN
&t foh 98 QU IEE I WA =R @ | T 5 98 HEY iR w fern
3 38 Ao WE & foe ufe g 33 & forw et | & St i gl &
g Tor 4 s fhg led TERe e 8 dreg wmfua TR ofR o' Heu™
g SEH fhT T ST & HES o |
(%) 3ITYFd Tg=e ¥ dfaadl 3ggd Hd gu, oy il ug) &l W & oI
TMOIST gRT ST § AT W 9T o @ Eidi ol THEATST |
(@) =y & Iwwd feufa o afda yery o o @1 ord dfv | 4

Ganesh was concerned about the sedentary lifestyle people are leading
nowadays. Their dependency on outside food is also increasing because
corporate work culture demands working till late night at offices. So, he
decided to start a restaurant, ‘Healthy Eating Point’ to provide healthy
food options to customers. After completing planning and organising
functions, he identified the various job positions that are required to be
filled i.e. a General Manager, an Accountant, two Chefs, two boys for
serving the food in the restaurant and three boys for home delivery of
food. He decided that his father, Karan, would be the General Manager of
the restaurant. He would be paid ¥ 50,000 per month for his services. His
father requested him to appoint his friend’s son, Prem, as an accountant
who is well qualified for this post. Ganesh agreed to this proposal.

Earlier, Prem had a business of providing unskilled workers to different

organisations from remote areas of the country. Prem took permission

from Ganesh to continue with the old business. Ganesh happily agreed
and asked him to provide five boys for serving and delivering the food.

For the appointment of the two Chefs, Ganesh approached a renowned

Hotel Management Institute and was satisfied with the Chefs provided

by the institute.

(a) Quoting the lines from the above paragraph, explain the two
sources of recruitment being used by Ganesh for filling up the
various job positions.

(b)  Also, give the meaning of the function of management discussed in
the above case.
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16. TeH % o T ot ° e 9 formest 3w fiu S i STt 7, 98 @
Tord TR W o fofe Srd 8 27 fopelt wed § o o &1 SAfeeeR e ')
T o ST ST Tohdl 8 AT I8 3= THIT T4 o UTE gl Tehdl 8 | T I8
‘Srerat SR (A1 A AT AY)’ ATl TGYURON T R |
IS I3 TS AR Ud SfeaAdl H dgdl 8, d HU oF & SIfeesrt i =
TR % ATSM i i Yg[ Bl & | I8 A AT & HAM1h S Sl | gl
el 31fd Fere @ w1 d=ed § foied 819 8 98T 3= 39 gy ° 399
Toree B el @tk [ BT R |
Iuded | EeA R hl Tk UEwUl STTLNUT T qUH fRAT TR B | STaymon
! JEATHT 3R 36k Hew™ o fohral di (ohg3Tl i Joaid HIVT |
One of the questions that needs to be answered in the organizing function
is ‘At what level are decisions made’ ? Decision making authority in an
organization can be pushed down to the lower levels or it may lie with the
top management. However it is not an ‘either or’ concept.
When an organization grows in size or complexity, there is a tendency
towards sharing decision making authority with the lower levels. This is
because in large organizations, employees who are closely involved with
certain operations tend to have more knowledge about them than the top
management.
An important concept of organizing function is discussed above. Identify
the concept and state any three points of its importance.

17.  ‘So= o GRTNG HINT | T T TgTEm 561 oY 7, TSy |
JraT
‘ST wterer st 319 A | AR wafar i et 9 fasiwarati
S THIATST |

Define ‘Management’. Explain how management is a multidimensional
activity.

OR
Give the meaning of ‘Business Environment’. Explain any three features
of Business Environment.

18. ¥ U AT Tgad ol o T&F HUBRI DRI o €9 H BRI g | ]
AT SFGHE H1E hl Teh A1 TS Hrot o T8 & H & 8 | 59 &1 i,
T, S HETARned | Ush SFg@d 31E93 o {3187 7, 39 Tt & @y
“Taqur’ o8 W ==l W W1 A1 | 98 ¥ ¥ fague fuin = aaifaq e 9
T T TTCAT AEal A | S 5 G foh fqqum FURE i 95 ¥ HRh
yifed i 8, 3= gEId: & i § die A1 FehdT 7 () Freeefia o w@
(ii) R-Fafia o |
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19.

20.

S 9 A gwemn fob e aw@ fauvm o 9 9§ e fauom # awaan
Ied S o foI faqum Yerees iR &9 9 99%9 YeH & 2 |

39 foquH I T I IEATHT T qHEsT e foque Jewgehi g fFRat &4 9
&y feIm S dehdt B |

Jay is working as the Chief Executive Officer of a soft drinks company.
The company is doing its business in collaboration with a soft drinks
company of France. Jay’s friend, Swami, a teacher of Business Studies in
a reputed college was discussing the ‘Marketing’ chapter with his
students. He wanted clarity from Jay about the factors which affect the
marketing decisions. Jay explained that there were a large number of
factors affecting marketing decisions which may be divided into two
categories : (i) controllable factors, and (ii) non-controllable factors.

Jay further explained that controllable factors became marketing tools
that can be constantly shaped and reshaped by marketing managers, to
achieve marketing success.

Identify and explain the set of marketing tools that can be constantly
shaped and reshaped by marketing managers.

ol o 3TT=ailer Fidl o foheal IR AT T Iooi@ HIFT |

STt
0t o 3T=aites Gidi 6l foregl =) H|13Tl 1 Ieai@ hifau |

State any four benefits of internal sources of recruitment.
OR

State any four limitations of internal sources of recruitment.
Qug g
SECTION D

Aefes gay 1 7Y B TWE T § I AT Tob AT AiHehT T 1 HUAT AEd @
3R I8 @Al T 9 30 gdoss @ frwrd) @1 8 R 1) SR 1 AR Tey o+
forgral = T 8 o % fou fafiem qeies fomfig 1 ot Soem =i e
H, ST&1 98 H1 HA A, IAGhHdN hl I A g¢H H Tha g3 | fafiE
qehfiehl H eh ohrileh TR TohU ST ool ehuriedl ohl wean Feifa et 2,
ITIFd YTk AT ST 8 TAT 91 AN bl (IR0 B 8 | Th 3 Tohr1h
I HHETE h I il & S G fea & 3fd s w1 farea/ed 9 sifus
3T A & AT § AT S TH IR0 W TG 2 Toh hrispererar yegehi td
fient T o TIFd T T TR 3 |

Iwe FTeRE ¥ UlerAT 3UA H B AN Yy 1 2 qoAIH] I TgENT

T AHTST |
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21.

‘Scientific Management means knowing exactly what you want men to do
and seeing that they do it in the best and the cheapest way.” Taylor
developed various techniques for application of Scientific Management
principles and was able to achieve a three-fold increase in productivity in
Bethlehem Steel Company, where he worked. One of the techniques helps
to determine the number of workers to be employed; frame suitable
incentive schemes and determine labour costs. Another technique
recognises those workers who are able to accomplish/exceed the fair day’s
work and is based on the premise that efficiency is the result of the joint
efforts of the managers and the workers.

Quoting the lines from the above paragraph, identify and explain the two
techniques of Scientific Management.

arer 31l fafies fofi s 6 anforfSss amedl & fotar 8 | fuset a9 & e
gaeh! foshl @ &t g s off | =Te oY § ot 3 fsht B 20% | S@H
faut formm 2 | 39 foru strafier qen smer ateherr fopu Tu B | 3Tidfies STeheru
& TIEIH O 3 o¥ad ™ & gt fum i aheraret Ta AN 1 foaveyor
ToRAT | STRI STR&TTT I hrg-Toig FRAT FGeTd BY TATeRYT o F3TR U9 &l 9 |
A, SATGEIIH TG 1 IH § WA §C T Toeqd ASHT IR 6l T8 a0
AL I T HH o U 3Taees HE1EHT i TEidd foham T | HFaT 3
ngfé’sr%amﬁohlqiwiﬁmwlmqlm eh{-l%ﬁ%ﬂﬁm | fosht # R
dlog H Yd FE & U u*marcgf SIS k1 TaepfEa @ &1 wEl

yfagdr 3 fUsd Tk eoreh 8§ 38 At o™ ol stvaed fomam 2 |
Suerd A ASHT o g1 JehR ol TEATHT T HHSTST |

Matta Auto Ltd. is manufacturing different types of commercial vehicles.
Their sales were rupees two hundred crores in the previous year. The
company decided to increase sales by 20% during the current year. It
conducted internal as well as external audits for the same. Through
internal audit, they analysed the strengths and weaknesses of the
business across all departments. External audit focused on the
opportunities and the threats in the constantly changing business
environment. Thus, a comprehensive plan was prepared taking into
consideration the business environment and the necessary resources
were allocated to achieve the target. The company directed its offices
throughout the country to follow the plan. The company’s commitment to
develop effective plans to achieve a consistent increase in sales has
ensured its continual growth over the past one decade.

Identify and explain the two types of plans discussed above.

66/5/3] 12
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Y9 o Teh b o &9 § Feza =l gienfsa hifve | seehl fomiwarst
HHATRT |

AT
“gfsreror’ =t gitya Hifsw | afsteror 6 Fmfafaa fafest = oz
(i)  IWEH (3savH) Ffsreror;

(i)  JehIs3 Tfsrer;

(iii)  wfsreroneff gfsretor; qem

(iv)  Tfregar (SHrm) wfdreqor |

Define ‘Directing’ as a function of management. Explain its features.
OR
Define ‘Training’. Explain the following methods of training :
1) Induction Training;
(i1)  Vestibule Training;
(iii)  Apprenticeship Training; and
(iv) Internship Training.
wus g
SECTION E

Toamfor e sfen fafies’ e e fanfl o afas s 1 I
Ya4eh & | 99 2017 — 2018 o SR, T 319 IcUTe AL bl I ol
Teh! | I o g HEer Al 3 faemst i v wfufa s S wwen
T IdqT T Heb R 9IS T IcuTeT AT Bl UTd HA o T T4 I <
Hoh | w9 IcqTed graefl feniel o1 favawor feram it urn fo6 a8t aewor
& SR gHEN off | e sfean fafies’ & fem B O 9 91 d shadl
Tiehd S@e g & FEN W od 9 Sed s 9 et oft | e &
950 § Tergehy R ¥, e dfommeesy g ot g off 3R ImIg gEe
FEATANT grdl off |
iy & I Yeeush, foamfor, U SfeTd T I9AM war of R 3@
AfRierd: wHwIREl o wAWET B 3@ wgedt oft | faeamftn st e Sl
gl H fagame o 781 W@d 9, 37: TH-gE & HAW hl Wb Yo ®Y H AR
Iug ud o |
(%) ST Afea TRV 1973l % YR I JgaTHT Ud 34ehT 31 i |
(@) wﬁqﬁ@qﬁﬁm 3gYd I g, WA (%) H UgEH Y Ydh YhR h
T FEINY SISl Wl Iooh@ hitery, ek SR TEd shed
%ﬁ%@mﬁmawﬁaﬁwqﬁwaﬁl
(M) U@ i Q gl 1 Seoi <hifw S wfiifa grn w6 gwrfessar
%! gur % o fog o & |
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Chintamani is the Production Manager of ‘Global India Ltd.
manufacturing and exporting steel. During the year 2017 — 18, the
company could not meet its production targets. The Chief Executive
Officer of the company constituted a committee of experts to find out the
reasons and give its recommendation so that the production target could
be met in the future. The company analysed the production related
records and found out that there were problems due to communication.
‘Global India Ltd.” had rigid rules and would insist on communication
through prescribed channels, which led to delays. The company also had
a number of managerial levels causing further delay and distorted
communication.
Moreover, the Production Manager, Chintamani, was using a tone that
quite often offended the sentiments of the workers. Also, Chintamani and
the workers did not believe in each other and so could not understand
each other’s messages in the original sense.
(a) Identify and give the meaning of the types of communication
barriers discussed above.
(b) Quoting lines from the above, state two communication barriers
under each of the types identified in part (a) because of which
‘Global India Ltd.’ could not meet its production targets.
(c) State any two recommendations that might have been given by the
committee to improve communication effectiveness.
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T SEgel i Th SO @A 7 | 39 1987 § HIFHR e gRI SRY feRa
T o7 | $EehT GreT, fooell T qU H U a1 ST9R 319 7 | fowr & gerawd
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‘Monisha Consumer Goods’ is a leading consumer goods chain with a
network of 46 stores primarily across Mumbai, Delhi and Pune. It was
started by Monisha Gupta in 1987. It has a large market share in
Mumbai, Delhi and Pune. Looking for an opportunity to expand, it has
decided to open a new branch in Kerala. It has to decide on what new
resources it will invest in so that it is able to earn the highest possible
return for its investors. Once the company believes that it will be able to
generate higher revenues and profits, it also has to decide on how this
project will get funded. The finance manager, Atul was told to have an
optimal capital structure by striking a balance between various sources of
getting the project funded so as to increase shareholders’ wealth. Atul,
after assessing the cash flow position of the company, evaluated the cost
of different sources of finance and compared the risk associated with each
source as well as the cost of raising funds.

(a) State the two financial decisions discussed in the above situation.

(b)  Explain any two factors affecting each of the decisions that still
have to be considered by the finance manager.
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Explain the following principles of management :

(1) Division of work;
(i1))  Unity of command; and
(111)  Scalar chain.
OR
Explain the following scientific principles of management :
1) Science, Not Rule of Thumb;
(i1)  Harmony, Not Discord; and

(iii)) Development of Each and Every Person to His or Her Greatest
Efficiency and Prosperity.



